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(20 Questions (Q. No. 31 - 50) Answer all the Questions)

31. 20% of atank is filled with water. When 400 litres of water is added, the tank is exactly filled.
What is the total capacity of the tank.
A) 400 litres B) 300 litres C) 100 litres D) 500 litres
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34.

35.
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37.

38.

39.

40.

; | In the picture AD Il PS
b ratio of ZABC and ZPQRis3: 1.
Find ZBQS?
I ,'ll::_‘, S
"Ilt{
A) 50° B) 45° C) 135° D) 120°
0.4x0.01x0.9 i
isequl to ............. ?
0.3x0.12
1 1
A)l B) 10 O) T D) 00
Area of rectangle is 42 sq. cm. It’s length increased 5 cm. Then its area became 72 sq.cm.
Calculate the length of the first rectangle
A)7cm B) 10cm C)9cm D)8 cm
Inaclock at 3 : 20, hour and minute hand make an angle. Find another time shows the same angle
measurement
A)6:40 B)11:10 C)8:40 D)2:10
Find even number from the following
A) 2% B) 221+ 1 C)221-1 D) none of these
If 3% + 3% + 3% =9 Find the value of x
A)99 B) 34 C) 66 D) 17
The ages of Haritha and Raseena are in the ratio 3 : 2. If Haritha’s age 8 years more than Raseena.
What is the age of Haritha?
A) 40 B) 32 C) 24 D) 16
D C
E [ ] L]
In the picutre ABCD is a rectangle.
Its area is 60 sq.cm. AE =FB and ED = CF
[ If sum of areas of triangle EDA and CFB is half the area
A 10cm B of rectangle ABCD, Find the length of ED
A)6cm B) 5cm C)3cm D)4 cm
A book sold at Rs. 96. For profit of 20%. How much rupees profit was made?

A)20 C) 14

O) 15 D) 16
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45.
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47.

48.

49.

50.

Two sides of a triangle is 10 cm and 5 cm. Find the possible length of its third side is ............ ?
A)5cm B)4cm C)16 cm D)8 cm

How many factors does (5%)°

A) 15 B)6 C)7 D)8

X-Y)+Z= i ?

A)-z-y+x B)(x+z)-y O (y-x)+z D)(z-x)+y
What is the difference of the average of the first eleven multiples of 5 and the first five multiples of 10
A)S B)0 O) 15 D) 10

A car travels at 48 Kilometer per hour. How far will it travel in 5 minutes?

A) 400 metre B) 40 Kilometer C) 4800 metre D) 4 Kilometre

A two digit number divided by another two digit number gives 8.25. Find the natural numbers
A) 98,12 B) 85,11 C) 89,11 D) 99, 12

Find the last digit of 5! x 6202

Al B)0O 09 D)5

s ya-Lyxa-Lyxa-Ly=q
a 2)X(l 3)(1 4)X(l 5)><(1 c)="

1 5 19
A) — B) =2 O1 D) —
) < ) - ) ) 20
From the following which is not a perfect sqaure number?
A) 5925 B) 2209 C) 4356 D) 6724
A C
7 In the picture ZABD =2ZCDB =90°
P Find ZBAP + ZDCP
B_I L1,

A) 110° B) 90° C) 70° D) None of these



